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(l)ﬁr':‘ 7] Tk HI =hl 38X % One of the following is an example of a metal
(A) FEENH (Nitrogen) (B) ®EEISA (Hydrogen)
(C) 3T (Iron) (D) TS (Ocygen)
(i) =1 & | Twaiferes e o1 3o = @
One of the following is not an example of a unicellular orranism
(A) =T (Amoeba) (B) JuHifwan (Paramecium)
(C) FITSH™ (Chlamydomonas) (D) BIRS! (Hydra)
(i) =€ % 9 AR IR H 7f F fog STt @
The tissue that is responsible for the movement in our body
(A) HASt GF Connective tissue (B) U 30k Muscle tissue
(¢) df= waw (Nerve tissue) (D )efusifeaqi o= Epithelium tissue
(iv) 9Y SPTA 1 YT Hgald @ The amphibians of plant kingdom is called
(A) ST (Thallophyta) (B) fSrwEa (Pteridophyta)
(C) SR (Bryophyta) (D) fo=ragd (Gymnosperm)
(v) SN TH 3N % 3 91 U 71 ag W faedia faen o sveiw &, g W o
=1 9RET -@"'ﬂ Two forces of SN and 3N are acting on a same object in
opposite direction. The magnitide of the force on the object will be
(A) 4N (B) 2N (C) 8N (D) 5N
(vi) T WaAagas Rt g3 asg 1 7St o &1 7
The value of the Kinetic energy of a freely falling object
(A) 93 & T remain fixed (B) gedl Tgdl 2 Keeps on increasing
(C) W& @l § Keeps on decreasing (D) Y[ BT & Becomes zero
(vii) @ 9@ 8§ @ f5ad sfimam @t &

In which of the following is the speed of sound maximum

(A) Tt H (In the water) (B) &g ° (In Iron)

(C) 1 F (In the Air) (D) fafla ® (In the vaccum)
(viii ) HERE! I 1 ATEAEF § @ (The vector of Malaria is)-

(A) FT (Dog) (B) O A= (Housefly)

(C) H=BT (Mosquito) (D) WRSIAT (Protozoa)

(ix) ag gR0 %o aen WT & § : (If is not an air borne disease ) -
(A) R 9 (Corona Virus) (B) ¥ (Cholera)
(c) Tt (Pneumonia) (D) Lkl A7 (Tuberculosis)
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(x )ﬁ‘f B39 YIS & f?rq I g % Gas responsible for green house effect is
(A) Co, (B) O, (C) N, (D) SO,
2. T @ =1 gfd S Fill in the blanks - 8x11/,=12 %%
(i) BT TS zléaﬁimgg &l ... Fed % | Solid Carbondioxide is called ......
(i) ot o =t Saom wifsm <9 o &1 ... SeomEt £
The combining power of an element is known as its ..........
(iii ) XA 7 foeil e & wufeem sifuseam ol St den g7 . gRITE =Y
A ¥ | The maximum number of electrons present in any orbit of an atom is
detrmined by the formula ......

(w)ﬁﬂlﬁﬂﬂ?saﬁﬁ ..... .%Wwwméllmtopeof .....

is used in the treatment of Goitre )
(v) T F 3= N =1 Fwwor ... H B D
. Synthesis of protein inside the cell takes place in .......

(vi) T % 9 oNuT 9 WY .. FEd 2|
The qui:id basal part of the blood is called ............

(vii) w1 Rgw oo ... T o B 2 |

The rind-of the coconut is make up of .............. tissue.

(viii) 919 ST STAIRON ............. ST A & et

The concept of five kingdom was given by ............

3. ﬂﬁm HIT Very Short answer type questions 12x1 /=18 3

(i) fe=a1 gwig fh8 Had F2(What is Tyndall effect?)

(ii ) afe ot sy & el 1 S 8 § 3R TR =t demn ot 8 ¥ o sy
QTAV] Hi GOITY] A 1 &7 1f the number of electrons in an atom is 8
and number of protons is also 8, what will be the atomic number of the atom?

(iii) TH "Tl'ﬁ T HATSTHIET F1 |I9an %? What does a car’s odometer measn

(iv) 9IS f&d F8d €2 (Whart is inertia?) -

(v) TH HIT= &t ¥ SR IH s it wie d a9 8 iig 9) il & 9y
IS Hi ¥ite, 39 g § ot =) it &2 (Why will a sheet of paper
fall slower than one that is crumpted into a ball,)

(vi) TF A &/ &1 9R91fda FI1 (Define One Jule of work. )

(vit) R ¥4 9 et @ T 3iaa: okt 9% o9 W v wran & v

, TR Sl =hl 9T A E? A freely faiting object eventually stops in reach-
ing the ground, What happens to its kineti ? in i '

(i) Fﬂﬁ?mﬁ 'ﬂi‘T'qﬁW];{"’f azi’f m%g energy? Explain it.

‘Why are sound waves called mechanical waves?

(ix) SR 9991 & FH % g sezar mm%ﬁ -3}::‘-
(What'is, ¢ audible range of the average human ear?)

(x) @7 BIsYH ,*-."GT*TI_-%? (What is the green house effect?)

(xi) BUGdaIR =77 22 (What are weeds?)

(xii) T3 et & o0 ST &2 (What is meant by mixed cropping.)

re?



-

3) RIS-IX-4

W@WUsS-« Part-B THeh W Short answer type questions12x2%=30 3%

4. ud = fafi= sammsti & qon § i@ = FiST (Exphain the
difference in properties of different states of matter.)

5. fago fEa wwa §2 Frafateas ol § 399 ge@! I gus w3 @) fofudl &
9™ f&@ 1 What is Mixwre? Name the Methods to separate their components
from the following mixtures. (a) LG { TFEF Butter from curd
(b) 5% | T 9Y Camphor from Salt (¢) i1 & T Oil from water

6. T=fefaa E::ﬁ B Hﬁﬁfﬁ difTeni & 9 %’lﬁﬁ"{ Write down the names
of compounds represented by the following formulae
(a) ALSO,), (b) CaCl, (¢) K;SO, (d) CaCD,

7. &7 el T 9K F WA Aew #w fE S E |
(Draw a sketch of Bohr's model of an atom with three shells.)

8. PIUH ¥ F QA 30 F faseloR FEa 827 3R F? (Which or-
ganelle is known as the power house of the cell? Why?)

9. YRY TG FT UF yag fag F Wiemw | wiiga W | (Classify the
Plant Kingdom with the help of a flow chart.)

10. I I ol e § 2 regail 1 e A oA T 3 I QW ST
faf@w i (What is circular motion? Write any three example of uniform

. circular motion of objects.)

11. HIcH A Wl HhidH B ] fae= +HISTT Match Column *A* with Column *B’

HiTH ‘A’ HicH ‘B’ ’
(i) @ (F) (a) ==
(ii) T (a) (b) mV,+mV,
Giii) o (P) (c) ma
(iv) mu, +mug (d) F

(v) P:-Pl (e) mv _
15, sfETE W fagra #0182 T fee ¥ H q -ergwam faar:
( What is Archimede’s principle? Wﬁu%nér two applications of this principle.)
B ' Il form of SONAR)
13. (a) AR (SONAR) & T 4 | (Write the fu
(b) THMES 39! AR 9hed + fag wosafy 1 YA R TR
&= &2 (How bats use ultrasound to catch a prey:)
14. 3 1 Gecalr 991 drad A 3{aR FdEY | Distinguish between loudness
and intensity of sound. ' L
15. e FEEUT F & 3 ¥rar §7 What is water pollution? How does it happen?
@WUE-H Part-C &9 SAUHD AT Long answer type questions 5x3=135
16. mmqﬁ%ﬁﬂ?g@maﬁg@aﬁfﬁml ( Who gave the
. binomial system? Write the salient features of this 'systv:;n.) '
17. wgsit o It & arfieto el H g a7 F &7 Waht is the

y . . [ TR 2
. - basic difference between the basis of plant and animal classifications

L]
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15. Fret fraramdl § &1 € W T HUE 781 1 SRS & SR | s g

Whether work is taking place or not in the following activities? Explain with

reasons. (a) gHI Teh T T A W T | Sumais swimming in a pond.

(p) T ¥ 279 915 TR =10 331 T ¥ A donkey is carrying load on its back )

(¢) 37 % < 94 &1 ¥4 H YW@ @ T | Food grains are getting dried in the sun,

19. Frsh saf o= safa, STadTe agn ™ | F41 ATHE 82 What do you
mean by frequency time period and amplitude of a sound wave?

20. WHia ¥ U TR AR HIEA Toh 1 Ghad FOH I | (Give a pictarial

description of the carbon cycle found in nature.)

WUE-T ( Part-D ) eS0T W¥H Essay Type questions 3x5=15
21. () gaeate 6 =ed €2 35% Q s faar 1%
(What is an isolope? Write any two uses of it.) :
() TESISA IONY] & FHEAfral & =, forat | 1%
(Write the names of the isotopes of Hydrogen atom.)
(W) wifead W F1 T T s faare fafa 2

( Write the symbol and elecironic on figuration of Sodium atom. )
22. (3A) THYN UIAYU HEA G THARIE Fhia! s o fovg sma § @
T €7 In which kingdom is the unicellular organism eukaryatic that performs
photosynthesis placed. (@) fo=remi 3R dfserd tw-gat @ fF yar A
¥7 How do gymmosperms and angiosperms differ from each other? (&) iy
wd HAaT T IR T? IXET TR TR FHAA | What is the difference
between cryptogames and phanerogames? Explain with example.) 5

AL /or ,

(1) g S & | W= A 9 F % T/ A6 9 &2 Which phylum of
;animal kingdom is known as flatwarm. (=) gelt =1 SR wEaEr i ﬁ?ﬂﬁEﬁ H
IZTE] BRI =R TR FAC! Explain difference between birds and mammals with
examples. (F) ¥ wqﬁﬁqﬁm%m oY ! TTH9M €2 The water
conducting canal system is characteristic of which phylam of animal kingdom?)
23. () feufas st R FEd T? What is potential energy? () ot Haor =1
faam ferat | Write the law of conserevation of energy. (®) 12 foeinm zemm )
s TR @@ A & Ffyea 3o w fea ¥ 1o A 1 feafter s aso sm

ag] F v F urde Fard 3w FAC [g= 10ms] (An object of mass 12 kg. is at
a cerain height above the ground. If the potential energy of the abject is 480J, find

the height at which the object is with respect to the ground. [g= 10ms?) 5
HAIAT/or

() o =0 t? v = I T W T Wha is power? Write the

formula und unit of power. (=) ‘ﬁimﬁa 100 AR M T 4 'ﬂﬁlﬁ? wﬁm

¥, 30 fi 9 e o P12 PR =0 % 9@ N2 1f 0 person bums & 100w bulb

for 10 hours a day, how many units of clectrical energy will be consume in 30 days.)
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